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0.4%0.4%0.05%4= 0.0320 m3 0.03
oy
0.3%0.3%4*4= 1.4400 m2 1.44
ar9)—k 18-8-20
(0.3%0.3%0.3—-(0.0605%1/2)"2%0.3)*4= 0.1069 m3 0.11
Ba
15 H 1.00
REBEE-Q 4h4 e (UREAE & [ RlE)
NO 16
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IES | EXARY
BRI LEER
{EHI b E
P EN H=320
f W=(0.715+0.2)%(0.35+0.2%2)
0.915%0.75
R BiER
T e H=0.735
T W=(0.514+0.2)%(0.514+0.2%2)
% = E— @éj@ 0.714x 0914
550 g 3o BT g
Ell AR T A ] T
10 d EAA
Ell L -
gL 50
g - ‘7%40
1 ERr &Y
B K - B2 K g = Bl % =
1EA AR BEn @®
0.915%0.75%0.32+0.714%0.914%0.75= 0.7090 m3 0.71
HEL
D—0 0.4090 m3 0.41
a1y AR wiEs @
0.765%0.45%0.13+0.715%0.35%0.19+0.614*0.614*0.1+0.514%0.514%0.635= 0.3001 m3 0.30
RA5L
0.765%0.45+0.314%0.614= 0.5370 m2 0.54
BERAER RC-40 100
0.765%0.45+0.314%0.614%0.1 0.0537 m3 0.05
FEAHEILZL 1:3 =30
(0.765%0.45+0.314%0.614)%0.03= 0.0161 m3 0.02
AR+ ER
BFEED 1= EN 1.00
REE-Q® arJx Fixw
NO 17
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TiEZ | [#5k& HIVP20
BRRBELHBER
I E
H=376
_ W=426
HEL
(Rt EESFHVRIGHRE L)
g
S RKET—T W=150 X T)L
(sp)
VP $20 (411% ¢ 26)
\EEA
26
10 m LY
& R - AR g = Bl &% =
) @
0.376%0.426%10m= 1.6018 m3 1.60
HEHRL
O—2 0.8520 m3 0.85
B ALsy ?)
0.176%0.426%10m= 0.7498 m3 0.75
Aol
0.426*%10m 4.2600 m2 4.26
1B ELAD
(0.176%0.426-(0.026%1/2)"2%3.14)x10m= 0.7445 m3 0.74
]
10m m 10.00
HIVP20
10m m 10.00
NO 18
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EXBRELDHEER
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1 BFr =Y
B ¥ - 8 HEirl % =
HFELD
1 & T 1.00
INLT 020 FiR-EEEELL
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IiEZ | (i
BRI LEER
¥:NY.N BREMEIE 8.5%1.66 IEHIZEH=1555 5B
Ei5 BRE@E 0.94%0.94 {EHIEH=047 E-RIEY200
2hVFR
1540 1460 500

1555

1060

520

1130

V9.1

470

AR &
Qo) vs.26 (N

1 &R &Y

B K - B2 K g = Bl % =
1R El AiK (8.5%1.66+(1.555%0.5%2+8.5)%(1.545%0.5%2+1.66))*1/2%1.555= 36.0265 (M
] 1.34%1.34%0.47%2= 1.6879 @
D+@ 377143 @ | m3 37.71
EHEL
®-® 18.8578 m3 18.86
s KK 8.5%1.66*0.35+1.46%8.3%1.08= 18.0259 @
] 0.94%0.94%0.47%2= 0.8306 (B
@+5 18.8565 ®| m3 18.85
RAEBL
8.5%1.66= 16.3934 m2 16.39
BARGER RC-40 t=200
8.5%1.66%0.2 2.8220 m3 2.82
Bz XK Zi5
(8.5+1.66)%2%0.15+(0.64*0.47+0.94%0.47 *4*2= 8.9888 m2 8.99
24—k 18-8-20BB
8.5%1.66%0.15+(0.94%2+0.64%2)*0.15%0.47%2= 2.5621 m3 2.56
FERHELZIL 1:3
8.5%1.66+0.02+(0.64%2+0.56%2)%0.45%2%0.04= 0.3686 m3 0.37
s 0.2822
av41)—k 18-8-20BB
8.5%1.66%0.15+(0.94%2+0.64%2)*0.15%0.47%2= 2.5621 m3 2.56
ERAKR | TUrEEERTOY/20ME, FEE1IAAEIFLINT &
1 = 1.0
RUR—VEREREEILIIL |E D 60074 T24R  (0.82+1/2)"2%3.14-(0.6%1/2)"2%3.14)%0.018= 0.0044  a
EZENE110mm ((0.82%1/2)"2x3.14—(0.6%1/2)"2%3.14)%0.034= 0.0083 b
2 $ 30024 T3 ((0.52%1/2)"2%3.14-(0.3%1/2)"23.14)%0.0505%3= 0.0215
atbtc= m3 0.03
>4 $600 H=50
18 29ke & & 1.00
REBEE-C@ HAEZ HALy5ER
NO 20
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IES | 357K Bt 28 — 1 10.22—10.38
HABRELHEER
10 Bpr H7-Y
G=X0 - f2 R ] = Byl % &
=&l O]
(0.015%0.2+0.065%0.41)*10m 0.2965 m3 0.30
ERL
D—@ 0.0000 m3 0.00
2 Juut Ul @
(0.015%0.2+0.41%0.065)*10m= 0.2965 m3 0.30
KB
0.26%10m= 2.6000 m2 2.60
BERAER RC-40 100
0.26%10m*0.1 0.2600 m3 0.26
2
0.1%2%10m= 2.0000 m2 2.00
av%')—h 18-8-20BB
0.21%0.1%10m= 0.2100 m3 0.21
BEILAL 1:3@15
0.21%0.015%10m= 0.032 m3 0.03
SEERE  77Yk150/180%200%60 10.0 m 10.0
10/0.61= 16.3934 Q| & 16.39
B E/LZIL 12 @10
(0.15+0.18)%1/2%0.2%0.013)= 0.0054 m3 0.01
NO 21
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IES | [EkpiEE—2 10.12—10.43
HABRELHEER
10 Bpr H7-Y
G=X0 - f2 R ] = Byl % &
=&l O]
(0.015%0.2+0.065%0.41)*10m 0.2965 m3 0.30
ERL
D—@ 0.0000 m3 0.00
2 Juut Ul @
(0.015%0.2+0.41%0.065)*10m= 0.2965 m3 0.30
KB
0.26%10m= 2.6000 m2 2.60
BERAER RC-40 100
0.26%10m*0.1 0.2600 m3 0.26
2
0.1%2%10m= 2.0000 m2 2.00
av%')—h 18-8-20BB
0.21%0.1%10m= 0.2100 m3 0.21
BEILAL 1:3@15
0.21%0.015%10m= 0.032 m3 0.03
SEERE  77Yk150/180%200%60 10.0 m 10.0
10/0.61= 16.3934 Q| & 16.39
B E/LZIL 12 @10
(0.15+0.18)%1/2%0.2%0.013)= 0.0054 m3 0.01
NO 22
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1SLT 100 350 REL
[ { BHELSL 133 t=10
Hibt W=540
Slet ;E%B“ 4 % 153740 x 350940
N\
g o
e 3
VPp100 (44 ZE P 114)
5% ’ 2% 1y — 18-8-208B
BERRERBE RC-40 t=150
120 300 120
1 640
1 ERr &Y
B K - B2 K g = Bl % =
1EA @®
0.79%0.94%0.6= 0.4456 m3 0.45
HEL
D—0 0.2588 m3 0.26
[z N @
0.64%0.64%0.1+0.54%0.54%0.5= 0.1868 m3 0.19
KRAESL
0.64%0.64= 0.4096 m2 0.41
BERAER RC-40 100
0.64+0.64%0.1 0.0410 m?2 0.04
sk ey
0.54%0.54%4+0.3%0.54%4= 1.8144 m2 1.81
av41)—k 18-8-20BB
0.54+0.54%0.54-0.3%0.3%0.54— (0.114%1/2) “2%3.14+0.12%2= 0.1064 m3 0.11
BEJLZ)L 1:3010
(0.54%0.54—0.3%0.3)%0.01= 0.0020 m3 0.002
) 100AH
11& & 1.00
IR —ILE
145 4 1.00
VP$100  |{EiEHEREH
L=0.3m EEMEOHE L 0.3000 m 0.30
REE—- wREHY < ih—JLEMHA-P-300
NO 23
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IiEf | [55kHEKE VU100 FEEHLD
HERXRHLEHEER
EHEEIOER
Li#MAIGL 102 THRAEIGL 10.22
LIRAIEE 975 TRAEER 9.72
BFER L=4.5m
FEIHPEEIE  0.475m+0.107m=0.582m
S HEbLEHE =100
o HREL
S (FEgMESEHVRIBRET)
E o
8
:IIIZ
I '
7o o/
b R VP $100 (5ME@114)
‘ ‘ 1R LA
200 | 114 200
514
10m Hf=Y
B K - B2 K g = Bl % =
1R El @®
0.514%0.582%10m 2.9915 m3 2.99
HEL REMESTHVEIZFRE L (FRA)
D—> 1.3775 m3 1.38
5oy @
0.514%0.314%10m= 1.6140 m3 1.61
RAEBL
0.514%10m= 5.1400 m2 5.14
BHRLAR
(0.514%0.314—(0.114%1/2)"2%3.14)%10m= 1.5119 m3 1.51
VU100
10m m 10.00
NO 24
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TiEZ | [55kHEKE VU100 FERLHDS
HERXRHLEHEER
EHEEIOER
LE#RBIGL  10.21 THRAEIGL 10.10
LIRAIEE 989 TRAEER 9.82
BFER L=7.0m
THEEIE  0.30m+0.107m=0.407m
S HE@LHE t=100
HRL
) (REMESEHVRIBRE L)
i .
5
I |s
& = ' >\
7o o/
B+ 8
= VP @100 (51E@114)
‘ ‘ HORLAR
200 114 ] 200
514
10m Hf=Y
B K - B2 K g = Bl % =
1R El @®
0.514%0.407%10m 2.0920 m3 2.09
HEL REMESTHVEIZFRE L (FRA)
D—> 0.4780 m3 0.48
5oy @
0.514%0.314%10m= 1.6140 m3 1.61
RAEBL
0.514%10m= 5.1400 m2 5.14
BHRLAR
(0.514%0.314—(0.114%1/2)"2%3.14)%10m= 1.5119 m3 1.51
VU100
10m m 10.00
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200

150
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BAERAER RC-40 t=150

150
1S L - [
Bl

150 l 500 I 150

50

1 &R &Y

=X Mg - 24K " = B #® 8
=&l O]
1.2%1.20.78= 1.1232 m3 1.12
ERL
D—@ 0.5665 m3 057
miasn @
0.9%0.9%0.15+0.8%0.8%0.63= 0.5567 m3 0.56
RELL
0.9%0.9= 0.8100 m2 0.81
BERAER RC-40 150
0.9%0.9%0.15 0.1215 m3 0.12
2
0.78%0.8%4+0.5%0.63%4= 3.7560 m2 3.76
av%Y)—h 18-8-20BB 0.8%0.8%0.78-0.5%0.5%0.536-0.62%0.62%0.044~(0.38%0.24+ (0.114%1/2) "23.14)%0.15
0.3331 m3 0.33

TL—F2 500 T-2 ZEER /2Ry T 28.4ke/ #E
13K ® 1.00
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BRI HBER
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T
E\\
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av9)—+t 18-8-20BB
BARAER RC-40 t=100

10 m L=y
B K - B2 K g = Bl % =
1EA @®
[B8 e 5% THEAIF A m3 0.00
HEL
O—2 m3 0.00
T4y @
[B8 5% THEAIF A m3 0.00
RA5L
0.4%10m= 4.0000 m2 4.00
BERAER RC-40 100
0.4%10m*0.1 0.4000 m3 0.40
av41)—k 18-8-20BB
0.06%0.4%10m= 0.2400 m2 0.24
NO 27
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IiEf | SERE: UR57240
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TEHI b E
a0 M UZIEIE 240 H=420
’ ’ W=340
AAh Mt TIETIREIF A
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S
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523
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o
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HEEILZIILIZ =30
M BAREHRE RC-40 =150
10 m L=y
B K - B2 K g = Bl % =
1EA @®
0.34%0.42%10m= 1.4280 m3 1.43
HEL
D—0 0.0840 m3 0.08
[z N @
(0.34%0.1+0.24%0.03+0.29%0.33-0.05%0.05)%10m= 1.3440 m3 1.34
KRAESL
0.34%10m= 3.4000 m2 3.40
BERAER RC-40 100
0.34%10m*0.1 0.3400 m3 0.34
BE)LAL 1:3 t=30
0.24%0.03%10m= 0.0720 m3 0.07
ULZ7 240 & 16.39
10m 10/0.61= 16.39 & m 10.00
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TiEZ | TRk INRERE

FEXRMETHEER

JL—Fry #B HRILLEE T-20
J VR w T i#EI95x400x38  36. 3kg
56 x60x6 11.6kg

7

u AV Y—REOYHR
62 #L3THa 5 U — 118-8-2088

150
/ ZL#H D13 L=100 @1000

10 m L=y
B K - B2 K g = Bl % =

1R El

[B8 e 5% THEAIF A m3 0.00
HEEL

m3 0.00

5oy

[B8 5% THEAIF A m3 0.00
(]
|mHO 7 — MEEN S

(0.15%0.1-0.062%0.056%2)%2%10m= 0.1611 m3 0.16
TL—Fo-BE TL—F2J L=180m T-20 &L AH EiEE #&$385kg /m 6930k REMO50-30%8 E

B4R L=3.2m 0.4%3.2=1.28m2 26.5kg/m2 33.9kg ( 1#X995mm 54 10.00

(D+@)*21.2/10= 1539.12 kg 1539.12
[ BT ]
21

0.15%2%10m= 3.0000 m2 3.00
=LA D13 L=100 @1000

0.1%107%2%0.955kg/m= 1.9900 kg 1.99
oy

0.1%2%2%10m= 4.0000 m2 4.00
av41)—k 18-8-20BB

(0.15%0.1-0.056%0.062)*2%10m= 0.2306 m3 0.23
JL—F25 T-20iB/RILREIE 47.9kg/m

10m m 10.0
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FEXRMETHEER
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(Fvra—5— BREE. v TU—RE)
(DC.AC A s8—5—1)

TNR%vyT

01200
B IERR (XILBTET L

H=950

J TRA—HI L 624 L5004k
g 2—Ji% ¢10
- N
‘ l 0 |
1000
1 & &Y
G=X0 - f2 R " = B #® 8
=&l O]
1.2%1.2%0.95= 1.3680 m3 1.37
ERL
D—@ 0.7240 m3 0.72
2 Juut Ul @
1.0%1.0%0.1+0.8+0.8*0.85= 0.6440 m3 0.64
KB
1.0%1.0= 1.0000 m2 1.00
BERAER RC-40 100
1.0%1.0%0.1 0.1000 m3 0.10
2
0.8%1.1%4= 3.5200 m2 3.52
av%')—h 18-8-20BB
0.8%0.8%1.1= 0.7040 m3 0.70
Yo7 -HE A Toh—RILLED
15 1.0 E 1.0
REEE— HBEX J—5—HEET
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R IKRER T—FUH (E@E) DHEHL
W=950 H=300
\ ﬁ FBEEJLZIIL 1:3
Jows 390x190 W=120 68 390 10
™ — 1
1#85-D10 /
KikZE/NRL4 T VG50 L=120 SR
g g
#if5 D13 @400 L=1125mm N
#53-D10 T
A — |
AR 4 g
— g 3
3v5y—F  18-8-208B N e
550 avsy—+ 18-8-2088
650
10 m L=y
2% Fig - g =® Hf| &% £
iz @®
0.95+0.3%10m= 2.8500 m3 2.85
HEEL
D—® 1.0500 m3 1.05
a1y @
(0.65%0.15+0.55%0.15)%10m= 1.800 m3 1.80
RESL
0.65%10m= 6.5000 m2 6.50
BERAER RC-40 100
0.65%10m*0.1 0.6500 m3 0.65
2%
0.05%2+10m= 1.0000 m2 1.00
a2%1)—h18-8-20BB
0.65+0.05%10m= 0.3250 m3 0.33
2%
0.2%2%10m= 4.0000 m2 4.00
a2 %1)—h18-8-20BB
(0.55%0.15+0.05%0.12)*10m= 0.8850 m3 0.89
BKIYE
0.3%03%(10/2)= 0.4500 m2 0.45
D13
(1.12%(10/0.4) +10.0)%0.995kg,/m= 37.8100 kg 37.81
D10
10%4*0.56kg/m= 22.4000 kg 22.40
JOw4 390120 H=200 (0.39%0.2)*75=5.85 m2 5.85
3E& x (10/0.4)= 1& 75.0
KIRE/SAT $50 L=120 MEICIECERE, BIGKRER
[2mE >y F 0.12%5= 0.6000 m 0.60
FEE)JLAIL 1:3
(0.12+3*10m+0.19%0.12%75{8 +0.01+(0.068%1,/2)"2%3.14%0.6+25: 0.1075 m3 0.11
NO 31
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HkRBART A O— Sem (4 vkL)

TiE4 | [ESEYYS 04- -04
BRI LEER
THNEZ T TERESE
HEIRIALYDLERR
732 17cm
#hE 10cm
VA 33cm
GRS 31cm
HEE 0.002m3
LENSS =3 0.0026m3

Bt 15%RE HEHAREERLT 85% x SITEL

0.019m3
A= AT SRR B - L A7) 15% x 5 (F31.1
3ykIL
Ri=E 0.010m3
1m2&Y 4%k
10 #% &Y
&% | BB g = HEirl % =
ESRYYY 04- 04
104§ oy 10.00
ERAREEDL
| 0.019%104= 0.1900 m3 0.19
RO O—L
| 41y L X 10A= 40.0000 9 40.00
F—ILAIY
31 kL X 10A= 30.0000 ) 30.00
BAELNS
0.010m*10A&= 0.1000 m3 0.10
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BB IEER
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- Dty §E BREEE RIELA0KM0G 1. 83ke/m)
180 180 65 (8=1/1)
ERER ((VSA:BVW 2.50kg/m)
5@
10 m L=y
&% | BB g =X Bl # =
‘B —MEE 0.18%0.18*5/@ == 0.162 m2 0.16
0.18%0.18+0.45%5{F= 0.0729%2.3= 0.1677 t 0.0729 m3 0.07
£ ¢$3.2x508 @
H=4.0m 1.47%10m*2.6kg,” m2 38.2200 ke 38.22
I @
L=1.77m 1.77m¥5A%2 5kg,” m= 22.1250 ke 22.13
IR ©)
10m*2*1.83kg/m= 36.6000 ke 36.60
E 30 @
10m*2%0.098kg/m= 1.9600 ke 1.96
S an oy
D+20+@+@-= 98.9050 ke 98.91
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2224 EHEMER  0.36 584K0.4 0.6+0.6= 0.36 m2
A0k
1 B &Y
& Hig- iz g = Bl # 8
TEHI @®
i\ 0.36%1.0%1.0= 0.3600 5.0880 m3 5.09
A (2.8%1.3+0.3%1.0)%0.6%2 MV Ff= 4.7280
EEL
—@ 2.4060 m3 2.41
Vi LY )
0.36m2%0.35+2.34m2%0.6%2= 2.6820 m3 2.68
REsL
2.34%2+0.36= 5.0400 m2 5.04
BERAER RC-40 t=100
(2.34%2+0.36) *0.1 0.5040 m3 0.50
2
(2.4+1.25)%2%0.6+2 5\ T +0.4%0.6%4= 9.7200 m2 9.72
a41)—k 18-8-20BB
2.34%0.6%2+0.36%0.6-0.06+0.075%0.35%7= 3.0130 m3 3.01
INRE
L EEL 15 = 1.00
REE-G VoL
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2 SRR IAIN g = B #H 8
R )
0.8%0.7%0.15%2\Flf= 0.1680 m3 0.17
EERL
D—0 0.0920 m3 0.09
sy @
(0.5+0.4%0.1+0.4%0.3%0.15)* 2 Ff = 0.0760 m3 0.08
RiznL
0.5%0.4%2= 0.4000 m?2 0.40
BERAER RC-40 t=100
0.5%0.4%2%0.1 0.0400 m3 0.04
sk ey
(0.3+0.4)%0.2%2 /N Ff= 0.2800 m?2 0.28
av41)—k 18-8-20BB
0.3%0.4%0.2%2 M Ff= 0.0480 m3 0.05
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B K - B2 K g = Bl % =
iz @®
(0.95%1/2)"2%3.14+0.45= 0.3188 m3 0.32
HEEL
D—0 0.2120 m3 0.21
T4y @
(0.55%1/2)"2%3.14+0.45= 0.1069 m3 0.11
RA5L
(0.55%1/2)"2%3.14= 0.2375 m?2 0.24
oy
0.55%3.14%0.56= 1.0362 m2 1.04
av41)—k 18-8-20BB
((0.6%1/2)"2%3.14—(0.1134%1/2)"2x3.14)%0.6= 0.1635 m3 0.16
BlEIAAAE BIREIEAA, BIEERSE
15 = 1.0
NO 36




t 8 it § &
KAHTRS SN
1) + +
I B g | Rk bR | WA | v | sk b
NO. 0-0. 98 .00
NO. 0 0.98 3. 04 2.97 0. 06 0.03 0.03
NO. 0+0. 31 0.31 6. 07 1.85 0. 06 0. 06 0.02
NO. 1 9.70 3.71 35. 97 0.61 0. 34 3. 25
NO. 1+2. 50 2. 50 1.35 3. 38 0.61 0.61 1.53
NO. 2 7. 50 1.01 7.54 0.50 0. 56 4.16
NO. 3 10. 00 0. 36 3. 60 0. 24 0.37 3.70
NO. 3+2. 87 2.87 0. 06 0.17 0. 24 0. 24 0.69
X5 A
XERBHERAE B EmIZEZEET)
& 15. 6 55.5 2.2 13. 4
g) 1 55.5 %+ 13. 4
u + - & + = 42. 1
it i (FE s &)
N O 37




3. XL THEHE

A=Y HE B |Bf | BEAiEE| i\ BRL |#aELE| &KLt | BEKH| RHL B % zot
1Mo 8—nyk i 100 2024 m2 0.00] 0.00 0. 00 0. 00
2 |FMavH)—hEEE—1 100 209| m2 0.00] 0.00 0. 00 0. 00
3 |tMav ) —bEEE—2 100 104 m2 0.00] 0.00 0. 00 0. 00
4 |[FRIO7IHEEEE 100 268| m2 0.00] 0.00 0.00 0.00
5 |BHR+ SR 100 2508 m2 0.00] 0.00 0.00 0.00
6 [3vHU—tBHE—1 10 31 m 1. 66 0.51] 0.26 | 0.82 0.25|  2.50 0.78
7 |avy)—rEERE—2 10 609 m 0.81 4.93] 2.01 0.48 2.92 2.80| 17.05
8 |MERAZA—1 10 804 m 1.47 11.82] 7.72 0.51 4.10 2.00] 16.08
9 |MERRBE—2 10 20| m 1.40 0.28] 0.20 | 0.42 0.08] 2.00 0. 40
10 |RybIzvR—1 10 85| m 0.76 4] 1.28 | o.07 0.13] 0.16 0.30
11 |#Eike mAlEhE 1 40| @] 0.08 0.32] 0.28 0.01 0.04 0.25 1. 00
12 |Eibs EEs 1 20| & | 0.08 0.16] 0.14 0.01 0.02 0.25 0. 50
13 |B5$/8—35 1 10| @] 2.40 2.40) 1.46 0.94 0.94 1.96 1. 96
14 | Y42 1 10| & 0.77 0.77] 0.56 0.21 0.21 0.50 0. 50
15 |hEERVF 1 10| & 0.17 0.17) 0.13 0.04 0.04 0.24 0.24
16 _|B&& 1 10| @@ | 0.59 0.59] 0.44 0.15 0.15 0.64 0.64
17_|FH#NMG 1 10| & 0.71 0.71] 0.41 0.30 0. 30 0.54 0.54
18 |#A/K%E HIVP20 10 50| m 1.60 2.40] 1.27 | 0.75 113 426 6.39
19 |F—b/SLJ 1 10| &R 0.00] 0.00 0.00 0. 00
20 |{EHE 1 10| @& | 37.71 37.71] 18.86 | 18.85 18.85] 16.39| 16.39
21 |EkpiEEE—1 10 10| &FT ] 0.30 0.03] 0.00 | 0.30 0.03]  2.60 0.26
22 |EkpimEE—2 10 10| &FT ] 0.30 0.03] 0.00 | 0.30 0.03]  2.60 0.26
23 |ubsk/NLT 1 10| & | 0.45 0.45] 0.26 0.19 0.19 0.41 0.41
24 |55kHEKE VU100 10 45| m 2.99 1.35] 0.63 1.61 0.72| 5.14 2.31
25 |55okHEKE VU100 10 72| m 2.09 1.50] 0.34 | 1.61 1.16] 514 3.70
26 |SEk#t 1 10| & 1.12 1.12) 0.56 0.56 0. 56 0.81 0.81
27 |IRISITHIE 10 7132 m 0.00] 0.00 0.00] 4.00 5.28
28 |UEIEIE 10 24| m 1.43 0.34] 0.02 1.34 0.32] 3.40 0.82
29 |tEEAIE 10 212 m 0.00] 0.00 0.00 0. 00
30 |V—S5—M8 1 20| & 1.317 2.74] 1.46 0.64 1.28 1.00 2.00
31 |JoyoitEe: 10 176 m 2.85 5.02| 1.85 1.80 3.17 6.50[ 11.44
32 |ESKRYYY 10 160| % 0. 00 0.10 0.16 0. 00|#E7RFE L
33 |z REE 10 20| m 0.00] 0.00 0.00 0.00
34 |N\REELE 1 10| @@ | 5.09 5.09] 2.41 2.68 2. 68 5.04 5.04
35 |NUF 1 20| & | 0.17 0.34] 0.18 0.08 0.16 0.40 0. 80
36 |5IAME 1 10| @] 0.32 0.32] 0.21 0.11 0.11 0.24 0.24
A&t 82 61| 42.94 39.73 96._14
m3 m3 m3 m2

NO




